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© o 4a-dd0em® b)A-2390 em® o) A4 =480 e’

© » 4 - 45216 cm?
b) A = 1589,625 cm?®

ADA=1-15> -7 - 7> = 552,64 dm’

Pagina 138

§=062u°

©bs-216-10+2:10-5+2-16-5=580 v’

c)§=2-25-8+2-8-3+2:25-3=3598u?
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o b) Perimetro de la base: 13 + 5 + 12 = 30 dm

12 5 L
= = 30 dm=

S
BASE 2

W

S =30-20+2-30 =660 dm?

TOTAL

o Perimetro de la base: 20 cm

8-6 5
$ = — =28
BASE 2

§ =20-10+ 2 -24 = 248 cm®

TOTAL
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SRy =132 - 50 = 6600 cm?

LATERAL

S =6600+2- = 9108 cm?

13219
TOTAL 2
@Oos, . -2mrh-21-6-10=3768 cm’

S = 3768 + 2 - - 36 = 602,88 cm*

TOTAL
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0 5IAWRAL =6-— 1580 = 3600 cm
i 2

90 - 13

S =3600+ = 4185 cm?

TOTAL
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Qs -5 +5,-1 610+ 6= 30144 cm?

®g= 13 cm

S =R-5:15+8

@h = 14,7 cm

15-21 + 7 - 152 = 989,1 + 706,5 = 1695,6 cm?

- 52 = 204,1 + 78,5 = 282,6 cm®

S, =T
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Oos-4n 15-2826m

@ La supetficie del depdsito es 5538,96 m®.

Cuesta pintarlo 94162,32 €.
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SEMIESF. EXT.

. - 1,22 = 9,0432 m?

. 22 = 2512 m®

e

SEMIESF. INT.

CORONA CIRC.

i
1 3
12
w22 —7 - 1,22 = 8,0384 m*

S, = 2512 + 9,0432 + 8,0384 = 42,2016 m’
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o h = 24 ¢m
TRAPECIO

A, =P-h+2- A, =14200 + 2160 = 16360 cm”



